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F—J—k : AFEX Keyword : equation
585
T ) __ ) A Crop is1250 koku, and this annual tribute is 575 rocks.
AT ES (il250:E CDEFERSISETH S, Among these, top of paddy has 450 rocks, middle of paddy has 550 rocks,
CDEESD-LE., 450A(IXEH. 550F(FFHH. 250H/(X FHT and bottom of paddy has 250 rocks.
H B, But middle’s land tax rate is littler 15% than top’s.
LAL. FALYPATESEN1Z54 (1 5%) L-o>TL\T. And bottom’s is littler 13% than middle’s

FHKY THIF1EI3 (1 3%) $-TLVS, _0)&? Then A'rl“zgi;paddy(Top’s)58.2%

DFEDENTTRD &L, Middle of paddy (Middle’s) 43.2%
=z z +tH 587 2E (58. 2%) Bottom of paddy (Bottom’s) 30.2%
Ol 4357 2E (43. 2%) Solution
FH 30972E%30. 2%) \ ]l:l‘O;n Coﬁditiol?ll,ddl by 15% is 82.5kok
7 s I\ ! irst, multiply Middle’s crop by 15% is oku.
AR A i t_l SSOEL'l 577 ( 1 9 3/2> ZMTHC aSZ\E SE X fd‘é (Multiply 550koku by 15% Is 82.5koku) It is Middle’s annual land tax.
ceEntEl=2 8 7 (2 8%) ’E#H’é E.b70H(& 7Ld~ Do —D2 Dg' And, multiply Bottom’s crop by 28% is 70koku.
(atb) ZEaEhHhtEHE152H85383¢ELGE, CNTRETICT-9E. | (Multiply 250koku by 28% is 70koku.) It is Bottom’s annual land tax.
727553+ 3. ChEEESEND125057TEH3E. EHS 8 Then, add Middle’s annual land tax to Bottom’s annual land tax is

R 152.5koku.
VAN Y/ d b £l !
DT2EEOND. RIS, TnTn (FHETH) O%Yzs5i< e, © So, add total annual tax to 152.5koku is 727.5koku.

AN And, 727.5koku divided by total crop gives 58.2%.

BDAEIE, FEHANS57S (15%) ZHIF. FI=TFTH~28% (727.5koku divided by 1250koku gives 58.2%) It is Top’s tax rate.
(28%) M F. ChoZE L THREESTEIS, TDEREFED From condition, Middle’s tax rate is 15% lower than Top’s tax rate.
£ ’&E—' LT, FHLTE852E (58.2%) LRITEH, TNE. & RO098.2/
It = % . &R G I -
KBNS R85
IR DFEE] [ DR | [How to solve of contemporary] [How to solve of Edo]
FTNZTNOHDFHREL J:EEIO)ﬁ?’—"f*Z(j: X% Each of paddy’s tax rate; Top of paddy’s tax rate is X%. 450 x
EH=x% HH=(X-15)% 450 x—— 4+ 550 x —— + 250 Top of paddy(Top’s)=x% Middle of — +550 x =+ 250 X — = 575 + 550 X
T B =(x-28)% . 100 100 paddy(Middle’s)=(x-15)% 15 L 5ep x 28
. CI®) © %700 Bottom of paddy(Bottom’s)=(x-28)% *°° 100
B o0 >0 > 00 g 15 " )(/i _15) A 1250><1100_ 575 + 82.5 + 70
(x —28) = 575 + 550 X 250 450 X F 550 X 250
+250 X~ = 575 e 100 (x _1%%) 100 1250 X 1To = 727.5
9 1(x—15) 5@x-28) X7g W T ekl 12.5x = 727.5
i 2 2 B 9  11(x—15) 5(x—28) 727.5
é - 1250 x 100 = 575 + 82.5 + 70 —x Y | ——— =575 X ="
9x +11(x = 15) +5(x —28) 1750 x = = 727.5 X+ 11— 19 +5x=28) _ . x = 58.2
2 E 170207 - \ 2 - So, Top’s tax rate is 58.2%
= 575 - ;‘2—75 / 9x+ 11(x— 15) + 5(x — 28) = 1150
‘ix +11(x — 15) + 5(x — 28) X =" / 9% + 11x — 165 + 5x — 140 = 1150 And then, substitute (x—15) for
A _ 582 05~ R0 Middle’s. Also, subst 28
9x + 11x — 165 + 5x — 140 e - N Yy — 145E iddle’s. Also, substitute (x-28)
— 1150 K> CLHDRHFE(L58.2% <= £89 for Bottom’s.
25x — 305 = 1150 P HETHRENREN So, Top’s tax rate is 58.2% So, Middle’s tax rate is 43.2%.
25x = 1455 (Xx—15)(x—28)ICH TIEH T Bottom’s tax rate is 30.2%.
. KD S And then, substitute(x-15) for
0 p— .

98.2%: 43.2% THOH#(330.2% Also, substitute(x—28) for Bottom’s.

hHE THIEZENZ (-
15)(x-28) [Z & T (X &H TK
b %

L7=AA>T. HHDOHEIL

43.2% T H O 1 = (&
30.2% @ a % N -

So, Middle’s tax rate is 43.2%.
Bottom’s tax rate is 30.2%.
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This question is find the paddy’s tax
rate. We applied linear equation to
solve the problem.

We calculated tax rate difference with
parentheses for example :(x-15)

But, Edo people treated x and 15
separately.

| could think of problems from multiple
view points and derive the answers.
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The Edo period’s people eat for 16509 rice a day. And their
calorie source is rice.
They cook rice every morning.

(Menu)
Breakfast Hot rice, miso soup
Lunch Coldrice, the dishes (vegetable or fish)
Dinner Tea on rice(Japanese “Ochazuke™), pickles
For reduce the consumption of rice, “Katemeshi” was
popular. It was healthy.
Katemeshi is cooked rice dish mixed with other ingredients.
It mixed Japanese barnyard millet and radishes Imogara
(Dried taro’s stalk) and sweet potatoes and so on into rice.
Lunch is their main dish because they only sleep soon at
night.
But, eating rice too much brings about disease “Kakke”.
This disease appear with shortage of vitaminB1. It brings
about numbness in foot and so on.
Unpolished rice has vitaminB1 in its germ. But when we
clean rice, its vitaminB1 are lost.

The second half of Edo period’ s meal is,
- Breakfast : roasted barleycorn, buckwheat rice cake
 Lunch : Katemeshi made of pounded rice, Japanese
barnyard millet, daikon and daikon’s leaf
* Dinner : soup made of daikon and flour dumpling
By the way, basically farming village parson had custom of
eating three times in a day. But, when they became busy
more and more to farm, they had meal four times in a day.
Then, Menu was same as lunch menu.
Popularity ingredients of miso soup was tofu, daikon and
natto.
A bean was popular because they had proteins all year.
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M21=T9, We spent a lot of time deciphering
mathematical expressions and English

Despite the fact that translation, and searching for unknown

contemporary mathematics is words and grammar.

much more advanced than We felt insufficient power, | would like to

mathematics in the Edo period, | study these so that | can do them on my own,

could not hide the surprise that and faster.

the past thinking is difficult to
understand in the present age.
It was good of us to help each

other.
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